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3 (Sem-2) ASM MIL

20 16

ASSAMESE

( Modem Indian Language )
\

Full Marks : 60

Time : 3 hours

Ths figures in thB margin indicate full marks
for the questions

(^) C^H ? ■

(^) c^n^* >&iFoRvo
^RRoi?

(^) %«(T I

(«) wiTOT' ipr CTO (23% C5n^

2Rll^ ^ t^?

(^) "SI%R ^ %|

A16/638 ( Turn Over )



( 2 )

I ^ : ^x8=v

(■^) ^§IFpf

('^r) w

(9f) >r5R«^W

(^) (?T^9f

O I ¥*fl^ ^im ̂  (f^ 1^itof5n) :

(^) c^
^iwi^dvs CvsRT^ : ̂

:  C^nS Ipl 2n®T
Wf W ̂ Tf^ll

(''f) C^ ^ ̂
1%C^ ^ni(R I ̂  ^ ̂
■^FRF "^rRT "^snc^il

(«i) ^^^-■>ii5R ■pRiwn^ ■'izaCT
»R3-»i^ isnfi 5K»im ai%^ R**'"'
<PW I

(^) ^9^ "5n*RCT^ 1*R3^^
CVSC^T

Hh(.NI<lR "51^9^5 ^®I trPU^R^
2|^m I

A16/638 ( Continued )

i 3 )

(®) "'flRjSJ^ ^^^-c^*»t<R RRl^
■?IR I ^ ̂  ̂ <qicvs\ ^TfR?sR

8 I (^) *<53^-pRR TqR--^«R ^ 'HI *IWR
^ inwf^. "R ^ w ̂  R^
Rn^ I io

TSfUl^

(^) ^ ft?R^
Rj^ti ^sfi^ c®^s^ "sn^TsIJ R>tc^ £jR)<pRi\s

^icoiio-ii ̂  I

a I (^) cgi^ csn^ :^cj^' 5fifjt»i^
I  i o

(^) ^TPfiTO wspR' ^ ^
>l^C^n iilR ^ajjcono-il I

I  (^) ^#Rr (?rr^ R?n I 1^, ̂ 'vs ̂
^1*^ Rm c^»i, "^^Rt I ^ o

('^) Rn5 "R
wiw ^sjfsjw Rsh <p^i I

★ ★ ★

A16—60*7638 3 (Sem-2) ASM MIL



3 (Sem-2) ENG

20 16

ENGLISH

( General )

Full Marks : 40

fajrie : 2 hours

The figures in the margin indicate full marks
for the questions

[ English (Major) students shall answer

Questipn Nos. 1, 2, 3 and 6, while other
students shall answer Question Nos. 1 to 5 ]

1. (a) Critically assess Blake's treatment
of the idea of infidcence in the poem,
The} Lamb. ) v/ 10

Or

(b) Draw a picture of dawn at Puri as
portrayed in MahajJatra's' p'bem, Dawn
at Puri : • : - . 10

Or '> . .

,' .' , >' f i

(c) Discuss the major theme of the poem,

Harlem. 10

2. (a) How does the poet describe the
punishment of the ̂ 1 in the |)oem.
Punishment? What is the poet's reaction

-  ' ̂ to the punishment? 6+4= 10

A16/634 ' ' ( Turn Oi/er )



( 2 )

Or .

(b) Give a description of the solitary
reaper's song. What was its effect on the
poet? 7+3=10

Or

(c) Attempt a critical appreciation of the
poem, This Is a Photograph of Me. 10

3. Answer any two of the following : 5x2=10

(a) Examine Wole Soyinka's treatment
of racism in his poem, Telephone
Conversation.

(b) What are the probable themes of the
song of the solitary reaper?

(c) What does the poet mean when he says

"Maybe it just sags
like a heavy load
Or does it explode"?

(d) How does Heaney comment on the
culture and human nature of Ireland
through the poem, Punishmevt?

4. Answer the following as directed [any five) :
1x5=5

(a) He went to Kolkata yesterday, —

(Add a tag question)
A16/634 f Continued }

I a )

(b) Please open the door.

(Add a tag question)

(c) There is hourly bus iservice oh this

route.

(Fill with appropriate determiner)

(d) Saswati was adjudged best
debater.

(Fill with appropriate determiner)

(e) I found one rupee coin on the
road.

(Fill with appropriate determiner)

(f) Sudip is reading a novel.

(Change into passive voice)

(g) Let the work be done without delay.

(Change into active voice)

j  5. Change the form of narration (any five^ : 1x5=5
j  (a) He said, "Alas! The man is dead."

!  (b) Utpal said, "Let us play cricket."

I  (c) I asked Rishav, "What are you going to
j  do with your old guitar?"
i

j  (d) Bubul asked me if I could swim.
i

IA16/634 (Turn Over )



(4 )

(e) . She told me that she wanted to go with
me.

(f) Shweta requested me to give her a glass
of water.

(g) Dev advised me not to go to the market
after dark.

6. For English (Major) students in lieu of
Question Nos. 4 and 5. Answer any one : 10

(a) What is the central theme of The
Sleepwalkers' Ballad? Discuss.

(b) Critically comment on Agha Shahid All s
treatment of loss and longing in the
poem, PosUxLvd from Kashmir.

★ ★ ★

A16—1**/634 3 (Sem-2j -ENG^

3 (Sem-2) ALT ENG

2 0 16

ALTERNATIVE ENGLISH

Full Marks : 60

TYme ; 3 hours

The figures in the margin indicate full marks

for the questions

1. Answer the following questions : 1x7=7

(a) "... Yet do I fear thy nature;

It is too full o' the milk of

human kindness..."

Whose 'nature' is referred to here by the

speaker?

Who fled away from Scotland immediately
after King Duncan's murder?

What is the third prophecy made by the

witches in their second meeting with

Macbeth?

(b)

(c)

(d) What is the purpose of Mrs. Linde's visit
to her friend Nora?

(e) Name the disease Dr. Rank suffered

from.

(f) What is lavani'?

(g) What does the phrase 'Bhatji Buwa' '
frequently used as a form of address,
signify?

A16/635 ( Turn Over )
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2. Answer any four of the following questions

2x4=8

(a) "We will proceed no further in this

business." '

(i) Who said this?

(ii), What does the word TDUsiness' refer

to here?

(b) Describe briefly the mental state of

Lady Macbeth as depicted in the sleep
walking scene. ..

(c) State briefly how Helmer justifies to

Nora his decision to dismiss Krogstad

from his job.' '

(d) Why does Krogstad finally decide to
return the Tjond' to Nora?

(e) Why did NansL'reward Ghashiram with
a pearl necklace?

3. Explain, with reference to the context, any

three of the following : 5x3=15

(a) He's here in double trust :
First, as I am his kinsman and his subject.

Strong both against the deed; then,
as his host.

Who should against his murderer
shut the door.

Not bear the knife myself.

( 3 )

(b) We fail?
But screw your courage to the sticking-place,
And well not fail. When Duncan is asleep—

Whereto the rather shall his day's

hard journey

Soundly invite him—his two chamberlains
Will I with wine and wassail so convince

That memory, the warder of the brain.

Shall be a fume, and the receipt of reason

A limbeck only :

(c) Whither should I fly?
I have done no harm. But I remember now

I am in this earthly world, where to do harm

Is often laudable, to do good sometime

Accounted dangerous folly. Why then, alas.
Do I put up that womanly defense.

To say I have done no harm?

(d) Oh, stop pretending! Your father was
just the same, always ready with fine
phrases. What good would it do me if

you left this world behind, as you put it?

Not the slightest bit of good. He can still

let it all come out, if he likes; and if he

does, people might even suspect me of

being an accomplice in these criminal

acts of yours.

(e) What I mean is : I passed out of Daddy's
hands into yours. You arranged every
thing to your tastes, and I acquired
the same tastes. Or I pretended to...

A16/635 ( Continued ) A16/635 ( Turn Over )



( 4 )

I don't really know... I think it was a bit
of both, sometimes one thing and
sometimes the other. When I look back,
it seems to me I have been living here
like a beggar, from hand to mouth.

4. Answer any three of the following questions :
10x3=3(1

(a) Discuss Ghashiram Kotwal as a

revenge play.

(b) Draw a character sketch of Ghashiram

Kotwal.

(c) Trace the growth of Nora Helmer's

character from a 'doll wife' to an
independent individual being.

(d) Write a note on the theme of the play,
A Doll's House.

(g) Give a character analysis of Torvsdd
Helmer.

(f) Write a note on the theme of power
in Macbeth.

(d) Describe how the unchecked ambition
of Macbeth and Lady Macbeth led them
to their tragic destiny.

★ ★ ★

3 (Sem-2) HIN MIL

2 0 16

HINDI

( Modem Indian Language )

( Hindi Katha Sahitya )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

1. ^ : 1x7=7

(^) ^ ^ ̂

(^) ^ ̂ ?rr?

(tt) ^ I, 3^ ̂  ̂ wm\

t?

(^) ch^l-ftchK ^ ^ t?

(^) ^ ^ «ft?

(^) TM % ^ -Sfm

.  (^) wiM ̂  ^ |3it sn?

A16—8000/635 3 (Sem-2) ALT ENO
A16/640 ( Turn Over )
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2. RnKlfed IPRt % 3# : 2x4=8

(45) ^ ̂  ̂ 1^ I^IcFft 3Ti^ WTcft |,
■3?lt 45^ 3!f^ ,3rf^ ^ ^ ̂

cm?ft tr <jq«4mchK ^ 4? "feMt 1^
i'

(^) 4^ ^ S 1444T ^ To4M 3Tto5 IT
^ 451 3lRni TO

(4) 45«n# ^ ̂  ^ ̂  ^
(4) ft Sft?

3. Fi-il^fed ̂  mm , 5x3=15
(45) -m <i^^l Tot %;^

^  ̂4?! It 44 4TI
3mm

^ ̂  ^ ̂  ^ ^^ t|f^' ̂  dichl^ 34451
' ^4^^ .4411

(^) ^ 41 411451 ^ ^ 41141 %l WT ^
^ 34^ ^^§451 4T4TI 15^ mt 3^4 ^ 3441

441 4? ^ ̂  1^ 44ir5f 451^
4n

3mm

4§ ^(1 414 % 1^ 314 4il4 ^ 45I4f 4?t ^^4514
^ 4514 449^ f ei)4— 451 45T4, I^Rl^

3RF4 41 ̂  ̂  ̂  41^^ 4# I
A16/640 ( Continued )

{ 3 )

(4) 4141 45?^n% ^ iff 4%-4% cIM —3^ 41^45
^  41 441 "^Sn 4f^ 1^5d4l <{)<adl
^l4l!

3mm

^  ̂ lift ̂  ̂  ̂  ll lift ̂  % 414
^ 1445^ 4T| eft ^ ̂  441 4 34^ I

4. ^11^ 1% 'l4ft^' 34^414 '4ft44 ^ 4:45 45¥4
45^' |l 10

3mm

dftdlim ^ 4lto45 Mqdisft 4ft lldil^d

5. 'ml' 4ftl45 45]5Pft % qldMi^ 4ft 3n^ 10
3T8im

45^ % 41^ ^ ̂  ̂  '^4<ftd' 45^ ^ Hlftm

6. '3Tl?4T ^ 311414' 45^ # 4541^^ ^ 314ft 41^ "ft
10

3mm

lift4 444 3mm 4441451 311114 # Hlflf^ ft4 41 m445
3145141

★ ★ ★

A16—2000/640 3 (Sem-2) HIN MIL



3 (Sem-2) BOD MIL

2 0 16

BODO

( Modem Indian Language )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. ^ MM

:  1x7=7

(^)

(^)

(T) 'tTsIT RT

(^) ^ TTT?

(^) trMt M PuhnR fgr TR?

(^) tit TOf^?

(^) ^ 4)|c|Rh|PI 3TR|?

2. MiewPl "to : 2x4=8

(^) "^TfMi^MnTTT^^'%TTi^r,j3fj;^,"

% ̂T?nwt RiMis'm

AI6/740 f Turn Over )



( 2 )

(II) ^ SIM sir)

—^ «ii«nal Rimis-n ^«il*iii?

(ti) #ci#f in# ̂s<k4Ih)h "f^ I

(si) ^dRiPl i§Fr tit? 1^ ^siihkImIh?

3. 'II5NN ^NRg-^niT 1^ ̂  :
5x3=15

(^) ansik Tipg) ̂ ? 3iTsi)^

(si) sRflmT ^PtwsRR <Nisi<m^<d)

(si) Tnf^ «n^ wf^t "sfcTO^ '^h^wIh^h?

(^) M)iql«nifi ^dl^Pi an^ |«iPl< I

4. 10

X{^

'Tiari ^sn^ I

5. ^Ih^Ih M)|q|q*iNiq qj||^l|
l^if^^TTSlf^ tl)Hl*^ 1^1

ti)qq|*1l "f^RTRRniT^ Tn^lf^
10

A16/740 ( Continued )

10

10

( 3 )

6. a# ̂rai

Iql^I^ql M^<.HiqHI Ri<.l 10

'ii^iqiq qiql<a-^iqi X^RM :

(^) wixn and <NidiR

(^) ̂ 'I^^HR-^^IRI

(sr) aiRimf^^xih^

(si) [q>qiq WRRM a^i^ ̂  %ITf^

★ ★ ★

10

A16—8000/740 3 (Sem-2) BOD MIL



3 (Sem-2) NEP MIL

2 0 16

NEPALI

( Modem Indian Language )

Fall Marks : 60

Time : 3 hours

The fibres in the margin indicate full marks
for the questions

1. 3^ : 1x7=7

(^) cR#!:' %

(^) % it?

W  ̂  ̂

(l^^) HIcW HIdeh

(^) ^ 3Fr

(^) ^

2. 3tR : I , ; .;: ' 2x4=8

(^) ̂ Tdf^aiT ̂ IW ̂

( Turn Over)



■>. (■ 2 )

(^) 4)c<HMI 3qT? cTl^ ^ ̂

(^) RKNchI ^-^STTRT-^ ^

3. tik 3R^ 3^ : 5x3=15

(^) o^lteill :

"1M qr^ 37^ ^ ̂
tiRt>-11 ^ 3lcflfl«hl nfecil ^ 3J?R

3T«raT

(^) OTTT arsmr ^ 1^3^i

(TT) ?T -R ^Tc^IWff ^ ̂  Wf^ STTWn
^fNr ^T%5^ ^1

(^) 1^5^!

(^) 1^3^i

4- (^) Hkc^HI ^TRTif
^  10

3T«im

A16/644 ( Conkhued )

{ 3 )

(^) ^O l^g^l
3TS7^

**R ^ ̂ 7T^ ^JWIdll ^ lf|Ri,r
— ^7f%J^ 3Tcq4 ^ZTlTs^n

(^)

3T8J^

3T ^ ^ ̂  <WlI^Hcbl
dMlldll ^73TI^ ^r cTTcq^ ^

★ ★ ★

10

10

A16—1800/644 3 (Sem-2) NEP MIL
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3 (Sem-2) BEN MIL

2 O 1 6

BENGALI

( Modem Indian Language )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

TO : bx<\=«\

(^) ^ <?f»r cwBr 1l?r ? <

('f) Rc^ '^llR^P'ap®! \OiR»C<l "52^ C5foT ?

(^)

c^r^?' " *c9ff^' c^?

(®) ^^<533^^ C^H. 3M3 *R C'lC^feolH ?

(^) ^ 3W3 ̂5tW{ ?

to tofesR?

A16/636 ( Turn Over )



( 2 )

Ci.x8=V,

(^) "^>lv»jlB| voiRic^ crRcei^^sr^ <pI^^ i"

c^? wi W5?

W /i% l^^ilSTO^ I"
^  w ? 1^ ft

•S»flfe«ni ?

(9f) "ft ̂#raT ft^ ̂  ^ "SRTT ̂ >Q i"
c^, i£|^<?lT <qccic^-s ?

W "«^i%if?f ^§l<i>i<i -sr^ ^5T flwi^ "=#1^
i" Slc<»ii<i» c^ c^ ?

OI RilPlR^ ((71 C-<l»ldHl 1%^) : <txvo=>(l

W  "^p^iSt^^ 2Rw?n

.  2f«?ni^

(^) 'vsl'SrVj^oi' 9tw >*ri-^iwm ̂ ®If6R
caR<p CT c*?ic«ii i

(^) ^ ^^ii?ii^

,  . ft, C»IC^ I ,

.  (^) 'C# C?t^?t'
,  <13^ I

(«) "a^ <^i7ifRK*m w ^ i"
2W ^ Sf^c^ ̂#TT??*!?1 C^ir?IT I

A16 /63^ ( ContiTiue4^

( 3 )

8 I PlUPll^ 21*1^^1^ ^"3 iox\o=«o

(^) *C# C^^'
1

(^)

^£iTO ft^ ̂  ̂(:k^i"

mm m'^ ̂  I

tercel"

<5f^ >01<lcri^C'i ^[^fD Rcs1<I®T I

TSfufm

(^) <?im' ̂  ftWT >s>i^v»(^ «
'$>lN-"4»Mlt^si STR-TRl^C^ ^

^ic«110^| <PC5?I I

(«) ^<™7m ̂  ^>s

a^ c# c^^%5 waisfe ^c^l^«i

^5jP|Rvo 2R1^Ri ̂  I ^|C«1ll>«I -90^11 I

(^) aiff^ aT«t%n?[ ̂  ft^

★ ★ ★

A16—2500/636 3 (Sem-2) BEN MIL



3 (Sem~2) ASM L

2 0 16

ELECTIVE ASSAMESE

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

> I *1^ "i'NT : ̂

(^)

^  m 1%?

<9Rc3^?

(^f) <i<5<i»Rc^ ̂  ^ 1^ ?

(^) w 1%
m

(«) ^Slg^ v£|^ vam
^  I

A16/639 I Turn Over }



( 2 )

(T5) ^51^ ipT ̂ Tf^=T
^RRor] ?

(^) 'TOW' C^ W

I  "5^ "Rr^fT : ^X8=br

^1^ 1% 1%?

(^) sn^ voRT^ ^ "511^ 1% 1% ?

(^) CT<lH*n ^SpFj^ 2fFf5^
(7^5^^ 1^ 1%?

W 'c# ^PfT

oi ft CTO=TT 2I»R 1^ :

(^) ^-»ift?[m

rto¥ TO®n^ ̂  I

Rte, ̂ wm ftRT I

(^) RT'sftft ftvs^ ft <-®ll^l
■^? ^spftftr «m ^91^ ^sRTRJ ^
«m ^5(1^, ft'Ra I

(Jx\!)=i4

A16/639 ( Continued )

( 3 )

(r) sm'n

(«) wm a#i^ ft c^TCTT ^5nfft
ftro 15^ ftr?fT I

8 I (^) v»R^-*^v»C"^l%[ vaRT-'^fftiiro
voRlft^l^l'RSSR vSfftSj^ Tjjf^ ?(f^ voRT-

ftm ̂  I

(''f) 2f[^ ^ ̂5RH -^RT
ftw ? RiT*fH>i^ >4»iic<!iiHi w I

4 I (^) ^5PI%T ^ v£i>v|R^i-r <£i^
2JW ^<11 I

(''f) ^5p]%f y©RR ^fftvS^ ^
«RR C^?R«R ttm 'life, #%l^ftRT I

<i I (^) RRT ^5P#$IT ^

(^) ^571%T ^ORR 'TWIR R^ffe voRl>i:^iSR
^<sft ft̂  ftp!fT I

io

io

io

★ ★ ★

A16—15*/639 3 (Sem-2) ASM L



3 (Sem-2) BEN L

2 0 16

ELECTIVE BENGALI

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

^  ̂ii"

ft ?

(^) C^51^ C<i"9ei

^ OT I

^£1^ v£l^ ̂

TO-Wn ̂  C^Rli"

(  'jef )

(^) ^ #r ̂  I

€rJ ̂  ̂  ̂ II"

A16/637 ( xum Over )



■  12)

^^^!5f^c9nf^Ttmii"

(«) "(Tf(7r^ic5T i"

W  "C^l® voRjffp. "PpSR I

c^w?^ c^itoRt^w^TOii"

c^m P'Sr Ritjm^ <i><:?ifeoiH ?

(^) bPldolH <>I^<iiw i"

■^vsJPT? ̂  ̂  €t<?f <T#T ^s^^%5R ?

^ I Tff« :

W
^ ̂  ^ll"

? w "TO^r ̂  #t ?

"5^ *11^ ceic^fl I

(^) tbViHjdHWfl (?r C^R?iT.^ <1MH|i| I

W ^ll^SIKST ■^SRM'^lf) ^
C5ir?lT I

A16/637 ^ Continued

i 3 )

«l <71 C^Fn?TT ac5m TO : <ix«=b4

(^) ^sra ̂ ^iNn ̂ :

**"^^1^ oiiRiii
^MCoi c^ I

■^51%T-T||5R:^

^ c^ i"

(^) CTO ^ f^ITOT I
^  II"

^rfa to i

(9f) <P|5^CH to^J ̂ ^^151 l"

te^nctfc^ ̂ snR^sm cwcsi
^snMHT ̂ R§iT

(^) (Tri^^l
l^^nRp ^R^idfe?. (7R II"

Rccl?^ I

(®) ^STO^WJT^:

^f^-^l«31 R*il vdI^I ^f^cvs ^ ll"

A167637 / Turn Over )



( 4 )

8 I csn^

^VQ?J IfT^ : ^OX\!)=>0O

(^) C^n^ 2ff%j^ 1% *C^55bBr<J>r

^cvo ? "•^(^>ji» CvsTO Wvsl^vo <«^ <^>WI I

(^) 'c2Rbfm' ft c^ ?

^^i!wi?r ^icoiiHi i

(^) cvsm ̂ %5 '^r#T9r'
^-C%*fEf fel^ef I

ai^wrm ̂  'sml^

((§) TfPic^ c^ *ti5v5?n%Tm ^ ̂

^iwiwi ̂  I

(^) wf ^ftlbvoHi^i't^'

ai*naTi^ xsf^^c^

2Pm^ I ^iwiHi I

★ ★ ★

3 (Sem-2) HIN L

2 0 16

HINDI

( Elective )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. '^FiszT-^^' cT«n 11:^ % 315^
10

3T«raT

^ 37^UTW ̂  ¥Tg |IT TI^JKI ̂

2. 3TRFf WW. Wi 3R^ ̂>M-3Pit5Hi ̂  31^
^rfclTTI 10

3i«igrT

3. W ̂  ̂ ^ ̂ w % -q^ ̂
an^h^qTcf ̂ tl^l 10

3?«im

'w 1^' 1^ ^ Mm

AI6—1800/637 3 (Sem-2) BEN L
A16/641 (Turn Over)



( 2 )

4. ^ Wnf^ : 2x2=4

5. RnRiRldd 3i^NiRt ̂  ̂<\^m ̂ rfbnf^ : 2x2=4

; 3155Tra

6. PIhI^I^cI ̂  ̂  1^ ̂  3R^ % ̂  : 5x3=15

(^) *-3[m chMijJ—31^ ^
^ 3!W

(^) ?mT ^ 4fbTTf^ ̂
|R ̂  ̂  % sicRt ^ 31^

(n) ^

(^) 'c|ir«c^' ̂  ̂ ^ ̂ I? FfS
^If^l

(^) 3^ ■£[ W 37m I?
iikwr ̂

7. PlMl^Rga "SR^ % mR ^ ^ • 1x7=7

(H) STRRf mmW % 37^ ^

(^) "^Rft Tf^ ^ ^ ^tf^l

A16/641 ( Continued)

( 3 )

(^) 51«d^llTb ^ 4fbW ^tf^l

(^) % W-^ ̂
(^) ^ 35TOT sfk SFRfJR ^

iTdif^d

★ ★ ★

A16—1S00/64X 3 (Sem-2) HIN L



3 (Sem-2) ECO

2 0 16

ECONOMICS

( General )

( Introductory Macroeconomics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer the following questions : 1x7=7
vS0r|VJ) Rill '

1. Define National Income.

"sm I

2. What is effective demand?

oifel ?

3. Mention one motive behind the demand for
money.

4. What will be the average propensity to save
when average propensity to consume is one?

A16/649 ( Turn Over)
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5. What will be the value of the multiplier when
marginal propensity to consume is one?

^ W TO 1%TO TO

6. What is liquidity tr^?

7. Define inflation.

Answer the following questions : 2x4=8

xoST® %T 2R£P^I^ ̂  %i:

8. How is Net National Income calculated?

9. Distinguish between autonomous investment
and induced investment.

^  "sn^

10. State the fundamental law of consumption as

given by Keynes.

11. Mention two factors that affect the
inducement to invest.

A16/649 ( Continued)

( 3 )

Answer any three of the following questions : 5x3=15

2IOT5^1^ C^TCTT :

12. Explain Say's law of markets.

13. Explain the relationship between national
income and economic welfare.

^  TO®

^ I

14. Inflation brings about a redistribution of
income in favour of the richer sections of the

society. Explain.

^ 023^ f -90^ I

■^^1^ I
15. Discuss the relation between marginal

efficiency of capital and the rate of interest.
W' SIT(^ W5T TO^

16. Explain the working of the investment
multiplier.

"QCRR "^TT'UT 9^1 I

Answer any three of the following questions :
10x3=30

vs5|v5 fen ft fen:
17. state and explain thd factors which influence

the propensity to consume.

A16/649 ( Turn Over)
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18. Explain Keynes' theory of employment.

19. Explain 'Gross National Product', 'Net
National Product' and 'National Income'.

Discuss their relationship and uses. 5+5

^^JNir 1^ I "srrsR -^'^{4 ̂

20. Discuss the classical theory of interest.

21. Discuss the demand-pull theory of inflation.
■bi%T voN^ciji N6ji(:oiibHi 1

22. What are the difficulties in the computation of
National Income? Discuss.
■^f®^ ^ ^c^icvs 1% #

I

★ ★ ★

A16—18*/649 3 (Sem-2) EGO

3 (Sem-2) PSC

2 0 16

POLITICAL SCIENCE

( General )

( Political Theory—II)

Full Marks: 60

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed (any seven) :
1x7=7

:

(a) Who is the author of the boolc, Planter
Raj to Swaraj ?

. Planter Raj to Swaraj

C<?H ?

A16/6S1 ( Turn Over)
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(b) The author of the book, Law and Public

Opinion in England is (A. V. Dicey /
Walter Bagehot).

(Choose the correct answer)

Law and Public Opinion in England

^^1^) I

(c) The book, Anarchy, State and Utopia was
wntten by Robert Nozick.

(Write True or False)

Anarchy, State and Utopia •TFR 21^^

(?T 1%^)

(d) The political thinker who associated
with the concept of 'separation of
power is (Montesquieu / Locke / Marx).

(Choose the correct answer)

vs^ Sfjps

I

A16/6S1 ( ̂ontame^^

( 3 )

(e) Referendum is a device of direct
democracy.

(Write True or False)

(?\ 1^)

(f) Who is the author of the book.
Hind Swaraj?

(g) The word Dialectic is derived from the
word Dilego.

(Fill in the blank)

Dialectic *Pf Dilego ̂

(h) The book. War and Peace was written
by .

(Fill in the blank)

War and Peace

A16/651 ( Turn Over )
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(i) The thinker who associated with

classical liberalism is (James Mill /

John Stuart Mill).

(Choose the correct answer)

^  1^) I

2. Write very short answers (any four) : 2^4

(1^ cs^icil *»iR^l) '

(a) What do you mean by indirect
democracy?

ijici 1% ̂"sri ?

(b) Write two conditions necessaiy for the

success of democracy.

(c) What do you mean by development?

(d) Write two basic elements of human

development.

=8

A16/6S1 ( Continued )

i 5 )

(e) Mention two means of non-violence.

^1

(f) , Mention two theories of Mane.

"sn^ ^ ^ I

3. Write short answers (any three] : 5x3=15

(1^ :

(a) What is meant by ideology?

ajvs|it-f <5ptCoi ̂  ̂  ?

(b) What do you understand by pluralism?

(c) What do you mean by sustainable
development?

R<?hl ?

(d) Write a note on features of liberalism.
c5l^ i»rTT I

(e) What is Gandhi's views on Swaraj?

(f) What is elitist view on democracy?

A16/651 (Turn Over)
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4. Answer the following 10x3=30

(a) Explain the various aspects of human
development.

Or

on

M

Discuss Gandhian views

development.

(b) Discuss Marxism as an ideology.

Or/^sm

Explain the relevance of moral values
in politics.

(c) What do you mean by liberal
democracy? Write its principles.

^  's^ ^ I

(Continue^)

( 7 )

Or/^smr

What do you mean by Satyagraha?
Discuss the techniques of Satyagraha.

W?\ ^

★ ★ ★

A16—55*/65X 3 (Sem-2) PSC
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HISTORY

( General )

( Early Assam up to 1228 )

Marks: 60

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer all questions

Answer either in English or in Assamese

1. Answer the following in one word or
sentence : 1x7=7

(a) Who was the founder of the Varman
dynasty?

(b) Write the name of the first Kamarupa
Idng who performed the Horse Sacrifice.

W ̂  ^ I

A16/652 ( Turn Over )
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( 2 )

(c) Name the Buddhist Guru who was sent

to Kashmir with Amrita Prabha, the

daughter of Bala Varman.

-=1^^

(d) Who issued the Puspabhadra Grant?

(e) Where was the capital of Kamarupa
during the reign of Dharmapala?

(f) From where was the Kamauli Grant
issued?

(g) In which year did the first Muslim
invasion of Assam take place?

2. Answer/Write in brief on the following : 2x4=8

vocqvo

(a) Mention the name of any two cities of
ancient Kamarupa.

/ft ^
^ 1

A16/652 ( Continued )

( 3 )

ft)) What were the articles that

were presented to Harshavardhana by
Bhaskara Varman?

^5rf%?

(c) Name any two inscriptions from

which we get information about the

Salastambha d3masty.

ft ^ ftipR -RN ftprr ftc^
ft̂  I

(d) Position of women in ancient Assamese

society

^  W

3. Write short notes on any three of the

following : 5x3=15

vscqsD ftgr ft C<PIC*II C^l<Pl ftPfl :

(a) Vamashrama dharma

(b) Dubi copperplate as a source of ancient
Assam history

^ XsTSR^

(c) Brahmapala

(d) Kanai Barasi Bowa Rock Inscription

(e) Saivism in Assam

il6/652 (Turnover)
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4. Answer any three of the following questions :

^  10x3«3
TO ^ ^ 1^ :

(a) Discuss the archaeological sources of
ancient Assam.

Wl

(b) Discuss the social condition of ancient

Assam.

(c) Give an account of the reign of Kumar

Bhaskar Varman.

"fm "sm ^ I

(d) Assess the importance of the reign of
Haijjar Varman in the history of Assam.

^ I

(e) Discuss Bengal-Kamarupa relations
under the Palas.

(f) Evaluate the importance of the KamauH
Grant in the history of Assam.

^spTSf ^cSnPi *rpFrw I

★ ★ ★

A16—14*/652 3 (Sem-2) HB

3 (Sem-2) GGY

2 0 16

GEOGRAPHY

( General )

( Physical Geography )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

twr:

(a) What is soil?

(b) What is ecosystem?

iRRFsvssi R ?

(c) Which one of the following is not an
important element of weather?

Vsorivo "R^fT ?[v5^

(i) Amount of cloudiness

(ii) Wind velocity

-iR)

A16/661 ( Turn Over )
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(Hi) Fog and mist

(iv) Solar radiation

(d) Write the name of two trees found in
tropical rain forests of Assam.

V5j^ ̂  ^ I

(e) Wliich one of the following gases is not
important for all life-forms?

^ 2CT5I%

(i) Nitrogen

(H) Oxygen

(Hi) Ozone

(iv) Carbon

(f) What is the altitude range of the
exosphere layer of the atmosphere?

m&'A oW)vsH ?

(i) 30 km-60 km

f%: f%: ft

(ii) 400 km-1000 km

8 o o ft: ft—i o o o ft: ft

A16/661 ( ContirtU^^ ̂

( 3 )

(Hi) 1000 kift^2000 km '

^ooo ft: ft—^ooo ft: ft

(iv) 600 km-1200 km

«l50o ft: ft_i^oo

(g) What is humus?

»r ■

2. Answer the following questions ;
2x4=8

(a) Distinguish between, alluviql soil and
laterite soil.

ft?ni
bri'V/

(b) Name the various pressure
earth.

^  I

■

■ of the

lO! ' ii

,■ I-

(c) Distinguish between weather and
climate.

(d) Write briefly the components of '
ecpsysteir

A16/661 (Turn Over )
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3. Write short notes .on any three of the
following :

(a) Soil erosion

ft}) Functions of ecosystem

(c) Mountain biome

(d) Factors affecting soil formation

(e) Heat zones

(f) Trade wind

I

i
m
(i

5x3=15 f

I
II
■I
%
%

■#
iM.

I
■i
I

4. Describe the nature and scope of
geography.

Or/^mt

soil
5+5=10

Explain briefly the mechanism and
characteristics of monsoon with reference to
India. . 5+5=10

A16/661 ( ContinU^^

5.

( 5 )

Explain briefly the idealized global pattern of
wind systems with appropriate diagram. 8+2=10

"^TNJT <?*Jl I

Or/WW

Give a general classification of different soils
found in the world with emphasis on their
characteristics and distribution.

^

10

6. What is pressure? Explain briefly the
pressure belts of the world. 4+6=10
m WT 1%? m

^ I

Or/'smj

Give an elaborate illustration of the present
pattern of distribution of plants and animals
in the world. 10

★ ★ ★
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EDUCATION

( General ) ^

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

(a) What* is psychology?

(b) 'Teaming is the modification of
behaviour through experience and
training." Who made the statement?

(c) Write one definition of interest.
v£1i5T PnfT I

(d) Write one primary emotion of children.

(e) What is personality trait?

A16/650 ( )
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(f) Write one main factor of memoiy.

^ 2im ̂  I

(g) Who is the pioneer of teultifactor theory'
of intelligence?

2. Give very short answers of the following
questions : 2^4^
^55|vs "R?!! 2R9CTI^ ̂5[|% ̂  :

(a) Write two characteristics of mstinct.

_

(b) Write two differences between habit
memory and image memory^

^  ̂ '=tT'#T
%T I

(c) Write the educational significance of law
of effect of learning.

I

(d) What is ambivert personality?
"SffC^ ■(% 7

3. Answer any three of the following questions :
5x3-15

(a) Write about two methods of studying
educational psychology.

^CilR'eai^ 1
A16/650 ( Continued )\

( 3 )

(b) Write the conditions of interest.

(c) Ejqjlain the relationship between
learning and maturation.

Pl^«R "sn^ ^jp?uf ^ I
(d) Write the basic characteristics of

personality.
2f^ I

(e) Write the differences between rote
memory and .logical memoiy.

4. Write about the subject matter of educational
psychology. How does the knowledge of
educational psychology help a teacher to
solve educational problems? 4+6=10
■f^ PfiT I pfsH

Plw ^£Sm

Or /

Explain the relationship between attention
and interest. What measures will you take to
make students attentive in classroom
learning? 4+6=10

^ ̂Sm Wo "TOJT ̂  I (2I%;4I^R
•{^^cfo ^v£i<p "9R "^PRbr 1% si^cf

*(.16/650 ( Turn Over )
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5. Describe the laws of learning. How can these
laws be appUed in classroom learning? 4+6-10

(2r%#H

6r/^f^

Define [ emotion. Describe the basic
characteristics of emotion. Can emotion be
modified? 2+5+3-10

6. Explain the meaning and nature of
intelligence. Write about Binet's contribution
to the study of intelligence. 4+6-10
^ ̂ ?[jm ̂  I CW5.

Rci*^ R<<w Rpti I

Or /

Describe the traits theory of personality.
Analyze the factors which influence the
development of personality of an individual.

^  2+4+4= IC

1  R<phi^
2n5R .C»K5iRT^R^5p5^R^<!r^ I

%'

3 (Sem-2) PHL

2 0 16

PHILOSOPHY

( General )

( Logic—^11)

Full Marks: 60

Time: 3 hours

The figures in the margin indicate full rharks
for the questions

Answer either in English or in Assamese

Answer the following as directed t 1><7=7

v55J^

(a)

★ ★ ★

A16—65*/650 3 (Sem-2) ED:^g/653

Indirect truth-table method is a pairt

of propositional logic/predicate lo^c.
(Choose the correct answer)

VS^RtJI /

( Turn Over)
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(b) Proposifional logic deals with the

internal structure of compound

proposition.

(Write True or False)

Rc?l<l'f <PC^ I

(c) Symbolize proposition "All S is P» using
quantifier.

«AU S is p"— ^
a€ift aw ̂  I

(d) There are two types of variables in
tluantiiication. Whnt nre thoy-

■afisnaw •r'R ^ ̂  ciri trt i

(b) Fill in the blank :

aRl :

(pql^rs

A16/eS3 (Continued)

( 3 )

(f) Sjrmbolize the following singular
propositions :

v55I^ ^ :

(i) Russell is a mathematician.

(ii) Shakuntala is beautiful.

(g) What is the essence of induction
proper?

£1^ ^ ?

2, Write short notes on the following : 2x4=8
^5»lv5 ($m 1¥fT:

(a) Predicate logic

(b) Propositional function

(c) Plurality of causes

(d) Fallacies of observation

1,5/653 (Turnover)
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3. Answer any three of the following : 5x3=15

(<t) Distinguish between singular and

general propositions with examples. 5

^

I

(^) Write a short note on malobservation. 5

Symbolize the following sentences by
•  X ̂  5^5Usmg quantifier :

« Somethings are soUd or Uquid.

(^) All lemons are sour.

(?1^ <S®T •

(^) Either everything is sweet .or
everything is bitter.

A16/653 ( Continued)

( 5 ))

(iv) Only teachers are honest.

(v) All things are temporary.

■»1<PCeil ^^1^ I

(d) Distinguish between individual and
property. 5

^  ̂ I

(e) Examine the validity or invalidity of the
following statements by using shorter
truth-table method : 214x2=5

(i)

(ii)

4. What are the rules of inference and rules
of replacement for constructing formal proof
of validity? 5+5-10

2pn®f ^

A16/653 (Turnover)
Ml
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Or/^s(9f^

Construct formal proof of validity : 5+5= 10

(a) 1. (HdL)-(XdJ)

2. {Iz>H)'{HziG)

3. Mvl / :.LvH

(b) 1. (Rz>Q]'{PziO)

2. Rv(P-N) / :.QvO

5. Explain shorter truth-table method with

a suitable example. 5+5=10

^ r '

Or/^TO7

What is scientific induction? What are the

characteristics of scientific induction? 5+5=10

^ (^9

6. Distinguish between observation and

experiment. 10

1%^ I

A16/653 ( Continued)

( 7 )

Or/^smr

What is quantification? Discuss A, B, I and O

propositions by using quantifiers. 2+8=10

A, E,/

★ ★ ★

A16—18*7653 3 (Sem-2) PHL
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20 16

SOQIOLOGY

( General .)

Full Marks : 60

TYme :'3 hours
■  ■ ■ ' '-'i'' ] .

The figures in the mdfgm mdi<x^
for the questiotis

Answer either in BnglisK or in Assaniese

1. Answer the following as directed : 1x7=7

/c! r(a) What is endogamy? ■

"■i\' .'.i'' -.•v.*
(b) Kinship is ^universal .ipsti^

association.

(Choose the correct answer)

(c) Ratio between ahd'wbm^''is''one
major catise iif polygyny.

(Write True nr False)

vjRcriH

A16/742 ( Turk Over )



ooa (g-msg) e I 2 )

& i 0 £
and individual are(d) Society

complementaiy concept.
—  i^rite True or False)

I

(e) The history .p^f all hitherto existing
society is the history of class struggle."

eAThiS swas said by Marx/I^n
(Choose the correct answer)

i" I

[  ' ' vby3<qc^|

(f) The book, The Decline of the West was
written by Spengler/Spencer.

(Choose the correct answer)

The Decline of the West

■ ■ ■ ■

I, . ^ %1%-sgi)

(g) "Culture is the handiwork of man and
,the rriediurn. through which he achieves
his ends." This was said by

Malinowsld/P^etp.

(Chpose the correct answer)

i"

( 3 )

2. Answer the following questions :

^5^ 2icic<Jh'^ :

2x4=8

(a) What do you mean by social metabolism?

1% ?

11 ■

A16/742 ( Continued )

(b) "Religion is the opium of the masses."
Explain.

(c) From which two words the term
'Sociology' has been derived?

CTO xp\ ^ 'Sociology'" *I^CIJN

(d) "We may fill the glass with wine, water or
I  sugar without changing its forrp but we
i  cannot conceive of a social institution

whose form would not change when its
members change." What did' Sbrokin
want to mean through this statement?

^

I  ̂R<voh 7|^vs m\^
m cHKiwi i" «fR%icvo

A16/742 ( Turn Over )
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3. Write short notes on any three of the
following : 5x3=15

R C^plwl :

(a) Multiculturalism

(b) Cultural lag

(c^ Secularism

(d) Descent and inheritance

4. Answer any three of the following questions :

10x3=30

^ ft ftp^ :

(a) What is culture? Is there any relation
between culture and society? Discuss.

t%? "sn^ 1%^

(b)

A16/742

Define family. Do you think that family
contributes to the values of society?
nftwR 1^1 -mm

( Continued )

(f)

( 5 )

(c) Define religion and examine the role it

plays in organizing social life.

1

(d) What do you mean by marriage? What is
the significance of marriage? Discuss

about different forms of marriage.

1%?

^ I

(e) What is social change? What does the
cyclical theory say about social change?

^TOSf f%? B2pTW ̂  Wld^f

What is kinship? Is there any relation
between kinship and descent? Describe
the basic rules of descent.

WT f%? "511^

★ ★ ★

16—300/742 3 (Sem-2) SOC
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HOME SCIENCE

( General )

( Ebctension Education)

Full Marks: 60

Time: 3 hoxirs

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x7=7

(a) Home Science education is a

combination of and .

( Fill in the blanks )

1*1^ I

( )

(b) Name two elements of communication

process.

A16/663 ( Turn Over )



( 2 )

(c) Two teaching methods used in Home

Science education are and .

( Fill in the blanks )

?ms ^ 9mm
1

( )

(d) Name the first college in India where

Home Science curriculum was started.

(e) Name two popular professions related to
Home Science.

^  ̂ %?(T

®  cards are used to explain a subject
matter with the help of diagram.

( Fill in the blank )

^  ̂

( )

(g) Name iwo visual aids used in Home
Science Extension Education.

^

^ t»RT I

( 3 )

2. Answer briefly on any faur of the following:

R<<| 1^ :

(a) Write two advantages of farmer's call.

(b) Write about two components of Home
Science.

v

(c) Whjat is Extension Education?

Tracer 9\^ ?

(d) Write two characteristics of teaching aid.

^  %«(T I

(e) What are the new avenues of Home

Science?

^  1% ?

2x4=8

3. Write short notes on (any three) :

^  (1^ CW^ wi^) :
5x3=15

(a) Group communication in Home Science
Extension Education

(b) Use of puppetry as a teaching aid

''JSSTT

A16/663 ( Continued ) A16/663 ( Turn Over )
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(c) Philosophy of Home Science

(d) Contribution of Home Science education
to national development

(g) Characteristics of Home Science
Extension Education

4. Define Home Science. Explain about the
different components of Home Science. 2+8=10

^ ^»nwnp

Or / ̂ W

Write a brief history of Home Science
education with special reference to Assam.

( 5 )

Or/

Write about the qualities of an Extension
Worker.

^yr22m«=r ̂  ̂ i
10

Define communication. Write about the
functions of communication. Explain about
the problems of communication 1+4+5=10

^N'oal 1»FIT I I

Or/

What are the approaches used in Home
Science Extension Education? Explain any
two of those approaches. 3+3V^+3Vi=io

^r22PIH®f 1*Wo ^ 1% 1% ?

★ ★ ★

5. What do you mean by teaching aids? What
are the principles must be considered while
selecting teaching aids? Explain briefly about
the importance of flash cards as teaching aid
in extension programme. 1+6+3=1^
1^«i 1^? Wm

7|«2p=n4«r

■%i% ^ 1
A16/663 ( Continued ) il6—800/663 3 (Sem-2) HSC
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PSYCHOLOGY

( General )

( Basic Psychological Process )

Full Marks: 60

Time: 3 hours

The figures in the margin indicate JiiU marks
for the questions

Answer either in English or in Assamese

X. State whether the following statements are.
True or False : 1x7=7

W (?T ;

(a) Learning is a kind' of behavioural
modification.

(b) The veiy first person to conducti
experiments on classical conditioning
was Thomdike.

(c) The concept ofi primary and secondary •
memory were coined by Wilhelm James.

I

VX6/660 (TumrQver)

k.
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(d) The technique used in the short-term
memory is known as free recall.

I

(e) The term 'personality' comes from Greek
word.

§1^ I

(f) The ultimate state in motivational cycle is
goal.

(g) Introvert-extrovert dimension of
personality is an example of personality
trait.

2. ̂ swer the following questions in 2 to 3
lines :

T55j^ ̂  :

(a) What is classical conditioning?

(b) How is short-term memory stored in
long-term memory?

%I%IT

2x4=8

I 3 )

(c) What is need?

2lc<Jie?«i 1% ?

(d) Who is called an introvert?

^1^ C^M'^ ?

3, Write notes on any three of the following :
.  5x3=15

^55^5 C^TM (^1^ 1»P(T:

(a) Insight learning

(b) Short-term memory

(c) Causes of forgetting

(d) Extrinsic motivation

(e) TAT

(f) Primary need

A16/660 ( Continued )
A16/660 (Turnover)
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4. Answer any three of the following questions :
10x3=30

(a) What does the word hperant' signify?
Discuss operant conditioning with an
experiment.

1% ̂ 1^?

(b) Discuss about the trial and error method

of learning in detail.

^ ̂ ^idoiiHi

1

( 5 )

(e) What do you mean by personality? How
are personality theories classified?

^  R^oI'Sth

(f) Differentiate between biogenic and
sociogenic motives.

^aji'sr'SfRvo ^5rt%2n^

I

★ ★ ★

(c) What are immediate memory and
permanent memoiy? Discuss the nature
and characteristics of memoiy.

^ ̂ ̂ 1% ?

(d) What is the difference between need and
motivation? Write the characteristics of

, motivation and give a diagrammatic view
of motivationsd cycle.

tmm ̂  ̂2im 1% ?

A16/660 ( Continued )
>Vl6—500/660 3 (Sem-2) PSY



3 (Sem-2) HSC

20 16

HOME SCIENCE

( General )

( Extension Education)

Full Marks: 60

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x7=7

(a) Home Science education is a

combination, of and .

( Fill in the blanks )

( )

(b) Name two elements of communication

process.

OTiCTt al3F!iH ̂  I

A16/663 ( Turn Over )



( 2 ) ( 3 )

(c) Two teaching methods used in Home
Science education are ^ and .

( Fill in the blanks )

1^1^ ^ f^PTOH
.^sn^ 1

(  ̂"5^^ )

(d) Name the first college in India where
Home Science curriculum was started.

(e) Name two popular professions related to
Home Science.

^  cards are used to explain a subject
^i^tter with the help of diagram.

( Fill in the blank )

^  ̂

( )

(g) Name two visual aids used in Home

Science Elxtension Education.

'I'ssmn -mws Tfu

2. Answer briefly on any four of the following:
' V . 2x4=8

C^M :

(cl) Write two advantages of farmer's call.

(b) Write about two components of Home
Science.

(c) What is Extension Education?

1% ?

(d) Write two characteristics of teaching sdd.

1^«T ^ 1^ 1

(e) What are the new avenues of Home

Science?

^  1% 1% ?

3. Write short notes on (any three) : 5x3=15

(a) Group communication in Home Science
Extension Education

^^R\a3|*i 7|^2PTR®t R*splvo

(b) Use of puppetry as a teaching aid

A16/663 ( Continued ) A16/663 (Turn Over )



( 4 ) ( S )

(c) Philosophy of Home Science

(d) Contribution of Home Science education

to national development

(e) Characteristics of Home Science

Elxtension Education

4. Define Home Science. Explain about the
diiSerent components of Home Science. 2+8=10

^ 1%, ^RT I

Or/

Write a brief history of Home Science
education with special reference to Assam. 10

5. What do you mean by teaching aids? What
are the principles must be considered while
selecting teaching aids? Explain briefly about
the importance of flash cards as teaching aid
in extension programme. 1+6+3=10

4wicvo

CSF^^Pl^ 0^1*? ̂ ^TNIT I

6.

Or/^sft^

Write about the qualities of an Extension
Worker. jq

TP22pyn^6r I

Define communication. Write about the
functions of communication. Explain about
the problems of communication. 1+4+5=10

<?n'»llc<Jl^ "^TTl I 1»PIT I
^WIJT I

Or/^SMm

What sire the approaches used in Home
Science Extension Education? Explain any
two of those approaches. 3+3V^+3^^=10

^t22pth«t 9ms mm 9
9 (mm ̂  mm \

ir ir if

A16/663 ( Continued ) \i6—S00/663 3 (Sem-2) HSC
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3 (Sem-2) ASM L

20 16

ELECTIVE ASSAMESE

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

(^)

^ ̂5rix5^5rt#h ̂  1%?

(•n) ^ ̂ ^ ̂ ?

(^) ^Sm 1%
2ff^ ̂

(<S) £f#i^ ̂sfg^ oJiiST
^ 1^ I

A16/639 ( Turn Over)



( 2 )

(^) '^Wl' *P!fCBT ^5(3^ vST^lt^ CTO Nof^

^ I fapRfl ; ^x8=V

(^) ̂ 5r®-'^cti% ^-•'iS^nsR a<fR c^
1% 1%?

(^) m ^ ̂ 1% ?

(^) <?RW

^ c'te^^T ft ?

W  "5^ ft̂  I

^ I ^ C"9IC*11 gjjg^ "l^f^ ; <tx\s=><i

^®nC5iT5^ ̂  I

(^) <iTft c^h^tw ^R<vsh
'^l^c^j ^'rl^cpT^ ft«fT 1

(^) ftv5^ ft ft v»Ri^ "^trR c^n^
?  ̂ ®pT%Srr ^SRTFU ft ft "STT't^t^

\51^ I

( 3 )

(^) ^sjpfRft^ m\'^

(s) vsj^i^i^ a&Pivo "R c^piwi

81 (^) ^-''iftn^i^ wim
vshiR^I^N^ vilR>ijvs ."ifif^ «(R ^-

^R^MdlJM ̂ lPl5j>|!i^%R^ I bo

(^) SffBt^T v»H®^) ̂  ̂sm ̂

ftpH ^ I

(t I (^) ^5pi%i ̂ om w iNftn ^
bo

ww

(''J) ^5Pi%t ^fts^ ̂
>5RR C^C5T^®K £r»I^ I

^ I (^) "SfRT ^^vo|<ji<q v£lj^

msfMr^^TORT I io

ww

(^) ^5Pi%T *p5piMR
toR ft[R ftff I

★ ★ *

A16/639 ( Continued ) Al6—15*/639 3 (Sem-2) ASM L



3 (Sem-2) BEN L

2 0 16

ELECTIVE BENGALI

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

(^) 9flf 5flf vSRfct

ll"

ft ?

^  C9M I

Vfl^ ̂

*nR-W*f ̂  C«T^ll"

( ^ )

^11*'

fioRivsi ?

Al6/637 ( Turh Over )



... ( 2 )

I

"=1^ *1^ c^ ^9f^?

(®) **(?fc^^i(?T c^^nfl."^ i"

c^?

(^) **C^n^ <pI^ ^I^FT i^*sr<ii'8f I

(7ft 1^ C^fte^l^WWSTll"

C^5j|5r <^]<\ Rer Ritji«!H< v^(L<lft(^Gr|;^ 7

(^) "RviiH'H bPlHH I"

■Sv5JFr®f ^ ?

^ I Tft« ;

(^)

^x8=V

vS^ 1

ii"

c^?

C'^) C^ "sjjp 91ilH<>lC«1 ^
^^FFT (71^ 1

(^) tbvSSTOC^ C^ C^K^ ^T»IPTR I

W writer ^ ^
I

A16/637 ( Continu

( 3 )

CT C^PiCii 2fC5I?r : <ix\s=i<^

(^) "^STO ^TNJT <PW1 :

1^=?H
71^ 51^ c^ r

(^) *ft|l C9f« -sg^l f5RM I

^<plb "^ft^ I

(9T) '*^5|t9C^ ^51^^ 1"

Cbvo^iCTC-qfi ^iR^iC"95i C^C3[ >oil^vo «ilD|c<f5i
^IC«1lb^l *?C5ll I

l^^nf^p (7H 11"

tern ^ I

(«) ^^JNJT ̂  :

"c^ 5nc^ 1^ ̂  I
1^ ̂5T^ ''ffti^ ̂  11"

ed ) \ A16/637 / TY/m Oyer j



( 4 )

8 I aFofD Rc^l CTTS R)*iib 2IC?I?I

^OX\0=VOO\to>Q<q Ttl^S :

(^) c^\m

>q3^>e» ̂  aK^ ? CvoWW Wvolijvo ■<ll>ij» 4(:?|1 I

(a) 'c2rMB^' f! c^ ? atoa a^
^'Slw^ <HlC01H>*il I

(a) cvsRia a^oa aw
•9iaj-c^*n<r Rcsi<ia i

a—

(a) " 'Stte^saroiaa^' 3c?a aaa "^ara
af^^iam aracaar af^ wai" a^aii^
aaCTa^ST Roia a^cai I

(«) ^'wiaa OT 'tbvo-^j^aia arm' a^ ^ ̂
«iiceiiD-ii ^^ca Wl^ I

("b) ^'wiaa wia ?#« 'Sltbvsai^aa^' aif awRa»"
<piRFia aiaraif^ ^c<^R»a» ^Rp^caa aiar^s
aa^ I ^icaiHi ara i

★ ★ ★ •

A16—1800/637 3 (Sem-2) BEN L

3 (Sem-2) HIN L

2 0 16

HINDI

( Elective )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. ^ ̂

i^%aa cRRii^i

arsrar

'anszT-t^' ̂  siaaKar a^ fts ̂  ^
^5paf cRRti<i

2. airaTzf OT 31^ an^a-inhaRf at aaaar
^rf^i

3T«raT

aasa % 1^[f^ ̂  aa aftaa '

3. W aa aica^ to aa^ ttr ^ ^
3TicflaarRT ̂ tf^i

10

3T«raT

'ttr IVrf^' f^aaa^ ^

A16/641 ( Turn Over)



( 2 ) ( 3 )

4. PlHlclR^d ^ : 2x2=4

%T ;

5. PinRlfi^d ^ ̂<\^<^\ MR^JlI^d : 2x2=4

; ai^srro

6. PnRlRsld ̂  ̂  tfk ^ : 5x3=15

(^) <4HkH4> 3R^ ^
Wftyi ^ SrPiqfT srf^RcT ̂ rai ̂ tf^I

(^) 'bto' cWT '^zNrt' iil^dJillrh ^ ̂rR^ll^d ̂
^  % 3T?Rt ^

(^) ^ lii^ ̂tt^i

(^) 'dlrMe^' ̂  w ̂j?;TT W ̂  I? ̂

(^) ^14^' sfR 3ic1c»)K ^ TO 3pRr %?
iikwT ̂  ̂ti^i

7. ftnRiRdd 31^ % TO ̂  ^ 1x7=7

(^) 4)l-dMiR 1^
^ t?

(^) 3n^74 «F]5JJ8J % ̂^tlK "TO **>l<x4-"^8SfUT

(T) i^tfl "TO ^ <5^<sl ^tf^I^I •

(^) Jil«{JillTb ̂  TO Wto

(^) ^ 3]|^ -€\^\

(^) ^ TO TOOT 3^ sTerro ̂
Mto

★ ★ ★

A16/641 ( Cohtinued ) A16—1500/641 3 (Sem--2) HIN L



3 (Sem-2) HIN MIL

2 0 16

HINDI

( Modem Indian Language )

( Hindi Katha Sahitya )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. ^ t ̂  : 1x7=7

(^) % ixiRidl ̂  ^ WR
c|K|U|^ % ^ ̂3TT 8IT?

(JS) ̂  ̂ ^ W SJT?

(r) t, 3^ ^ ̂I'lrari
eft ̂  ^ ̂  ^ ̂5«R

l^^chl t?.

(■Ef) ^ sredt ^ w %?
{■^') '^5^' ^ ^ 3raJTim || «ft?
(^) Tif^ % ^
(^) ^RNTel ^ ^

A16/640 (Turnover)



( 2 ) I 3 )

2. % 3# : 2x4=8

(^) "3ft^ ^ ̂ 1^ 3?to cTTcft I,
^3^1% ̂  3;tto ^ 3Tqi^ ^ ̂
1^ wlcH ll" ^ ̂  UPToft
31^ ̂  ̂  I?

(^) ^ ̂ 1^1^ ̂  13^ 37t^ If
^ ̂ 3TRPI cfii^l^l

(^) ^ ̂ ^ x^

3. 1^'='^ ̂  ̂  ^qpgn ̂  . 3^3^J5
(^) W3R^ 15[^ ̂  Sirail ̂  ̂

^! I ^ sn I

ami

^  4B TO 33T1 ̂  ̂ 1^ ̂ ̂

^ ̂  ̂ ̂  %l ?TO^®nfl %3;r sihii -g^ ̂  ara
^ ̂ frn :gi^ 1^ jpTCra ̂  ™

3T«raT

^ ̂  ̂ I % 31^ 41^ ̂  ̂  ̂  ̂

3iqT3r-411% ̂  ̂ ^,

A16/640 , ConHrmed )

(^) WR ^ ̂  ?TM liil—sir itr^etJ
%  4T ̂  ̂3TT 1^F^ ̂
■?Wt!

3TSl^

^ #t! ̂  ^ ̂ ̂  11 ^ % ̂ rm
^-fl^ ̂  ̂ ̂  ̂  ̂  R 3TT%1

4. 1^ 'Pl4^l' "S'RTRT 'sTlcH ^
«h6i-n' ti 10

3TSraT

(ficTRPT €t t:|iRBi^ Mwart "# l^iRbci

5. 'cTff' % ylcim^ ^ 3R^ ^tf^l 10
3TSI^

c^5i-fl % ciTdl ^ <|ie ^ *>5i'M<^<n' ^ ipftyr
■^tf^l

6. *^lcHI ^ 34|c(|>j1' cfj^i-fl ^ 4^ 3Tq| ifl«dl ^
1cT%RI 10

mim

vM Tm 3T8l^ ^5P?^T^ TRTlcf ^ ^ ̂  ̂P=q^
3raTRT ^grf^i

★ ★ ★

A16—2000/640 3 (Sem-2) HIN MIL



3 (Sem-2) BOD MIL

20 16

BODO

( Modem Indian Language )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. MM

Ml it: 1x7=7

(^)

(?§') hkI^ci RiS'i ̂ ik?

(7?) lil'cJNi* TTT

(U) *<MI ^-SM "ITT?

(^) hkI^o in?

(^) '#T^' TfT

(u)

2. ^ Mi: 2x4=8

(^) "^rf^ ̂  I ^ ̂  M^KNNir

% ̂i?n^ xrk xikf^ kpn^i^

A16/740 ( Turn Over )



( 2 ) ( 3 )

(^) ^ 37^^ STM siRt
3Th#r TTl^ 1^ ipltkR r

—% ««i«nal Rimis-n

(tt) "RT# ̂«1k4]h1h 1^1

(^) "ml 1^ ^S4K«c^|4jH|H?

3. Mi^ww ieR^vi^ Nsiwfik-^iM *i^HywPi "to :
5x3=15

(15) 3n?ik wi\ itetR sTTsitii^
W^iii

(^) 3fR^iiTT "qtoPRR

^FkJTPIl

(^) «<i<9N hi«iiR^ ̂ f^RT^t

(^) Wi^HlPl §M,NI^ ̂ di^R 3TT^1^1

4. 'tM "fcn^'■'FI^f^RTf^ i5n5%-^5ipSTT "Hl^ 3Tn| i^f^ I iQ
X(aJl

<.Mi ^nI^»iiPi 10

5. '#R^' ^W^f^RPTR ^WRFT 3TKt

TTMf^ H"^

6. W 31Rt w ^FR15 ^T?RRI5f^ #Tti^
Rl<| 10

T^

r-i5n5T fei:

(5J) "WRTT 3TRt XTSM^

(15)

(^)

(^) ft^l«l TRFRT5 37Rt ^Pi

★ ★ ★

10
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•  3,(Sem-2) NEP MIL

20 16

NEPALI; . , . ^

( Modem Indian Language )

' ■ i i' '" - , c*

Full Marks : 60
■' \ I i-V- * . . : ■

Time : 3 hours

The figures in the margin^ihdicate full inarks
for the questions

1. 3m ^ ^ 1x7=7

(^)

(t) ^ ̂ fit,
(u) : H(<S24 Ttldch

(^) arm^ 3m % it?

(^) ^ TO

(^) dRiclRl^ '

2. Wt im .! . .. . • 2x4=8

(35) TO35T TO'#^^|

(^) ^ TO35t TO

A16/644 C^^Pmrf



( 2 ) I 3 )

(^) (^KNcbi ̂ -armr-^ ̂

3. tfrr 3tR : 5x3=15

(^) ̂ Rraw ̂ zTRs^n :

"1^ Pl4c1l HlW 3T^ ^
^i1^i\%i 3icft^ ^ 3r«^TT

3T«raT

Tirfqwrf I

(^) OTTT 3T8raT ^ 1^3^l

(^) cT ^^^rrqtpff m, ̂  cmf^ a^rwn

^ ̂7%^ ̂ 1
^ 1^

(^)

(^) 1^5^i

4. (^)
vm ̂ n^i 10

smm

(^) "sio I IIrt^-^

arsrar

^ ̂7^7% tJWIdll 1^ "T^ l%^r'
—rrrf^ M'Rbch) ^^TTTsm ̂ ij^l

(n) cduilcbj

aram

cn ^ ̂  ^7^ ̂ ^nteR THI^cl^

dMildll McJ|l4chl #l" —'W Cfl«wqil "^ncq^ FIS
^71^1

★ ★ ★

10

10
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3 (Sem-2) BEN MIL

2 0 16

BENGALI

( Modem Indian Language )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

(^) ^ (?fn ? • i. r.

(9f)

1^i%c9ff^?'" *c9ff^'c^? .

(«s) WfW <R C<1C?ifeeFT ?

(i:) 5OT9OT^w^5rnzR6f?R?[%^(?^1^if^w^c^
1^ PiCilR.C«Ti ?

■  ): A16/636 ( Turn Over )



( 2 ) ( 3 )

\x8=V 8 I PljjPiR^ snSI'Sl^ ^"8 : ^0X>5=\!)0

W "^>|voil?l va|^l(:<1> l" '^>l>ol'i?f

C^? (?T WT W5?

^  w ? 1^ ft
^?f%5R?

(9f) '*§t #Rn ft^ ̂  Tfi^ -51^ ̂ vs I"
C^, v£l^<?|T <1C01C^«1 ?

W *'v»<ii^^i«jti ^Bi^tw "ST® Slc«=ii^
I" 9c5n^ c^ c^?

«l t^#rf^ 2Rr«^ ̂  ̂« ((?! fe#) : <ixvs=>4

(^) 9IW SRTfC"!
sioPi^ R<ir sf'^iifDfi R<jc^ I

(^) ^ ^Flf^ ̂ n-'Srl^ldHi^ ̂ Iff^
C21R<P 53TC^<5) CT C*?IC»II R*fl <PC51T 1

(^) C^Hi||^l«^ "WM

ft, I

(^) *C#

(®) "2ff^ ^^l''

2TO ^ R^ C5^ i

A16/636 ̂ ^ Continued )

(^) 'c# Rot^t

<pwi I

ww

('^f) v£|^

<iR?rm ^2^ v£i^ ft^ ̂
'c# ^ ROT«r TO

WPm OTn TOT I

(^) C^9R:W V|H<lfl<l<lHiT TO»^

RRstto w i''c^sT^ »n^ CT cwn 4^

^ «i^®i^c*i ̂ RpR Rcsl<i®f <pwl I

w«v?r

(^) *^3^ OFm' m ■ flvsIM >3
f^K'^TOl^ SfR-TRITO ^fer ^
^icoin?^! I

(«) ^ *(?Rt TOr«
•iiR<p| 3^ C®Rt ^iqjRvs ^c-iiRj^

^OjRfR^ 2R®I^R[ ̂  I ^icoiiMi *pc?^i I

(l?) <lH5d«1iT SIn^iIdvoci) ai^Rxp 2IT®lft«Tl^ fl^lc<J
^  ̂ R^®T To ̂ RlC?l TO I

★ ★ ★
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3 (Sem-2) PSY

2 0 16

PSYCHOLOGY

( General )

( Basic Psychological Process )

Full Marks: 60

TYme: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. State whether the following statements are
True or False : . 1x7=7

v5»f^ T5J CT jypRfl:

(a) Learning is a kind of behavioural
modification.

(b) The very first person to conduct
experiments on classical conditioning
was Thomdike.

(c) The concept of primaiy and secondary
memory were coined by Wilhelm James.

c^cf

I

A16/660 ( Turn Over )



( 2 )
( 3 )

(d) The technique used in the short-term
memory is known as free recall.

<n5[3^ ^ ^
«r*si ̂  I

(e) The term 'personality' comes from Greek
word.

(f) The ultimate state in motivationsd cycle is
goal.

"SSH C*RShn offi I

(g) Introvert-extrovert dimension of

personality is an example of personality
trait.

I

2. Answer the following questions in 2 to 3
lines : 2x4=8
^-fhp} •n^vs ̂551^ :

(a) What is classical conditioning?

(b) How is short-term memory stored in
long-term memory?

%f%n

(c) What is need?

1% ?

(d) Who is called an introvert?

<P"W C<)l«ll ?

3. Write notes on any three of the following :
5x3=15

vsqvo ^ R>PiI>H C^l^l :

(a) Insight learning ,

(b) Short-term memory

(c) Causes of forgetting

(d) Extrinsic motivation

(e) TAT

(f) Primary need

arum

A16/660 ( Continued )
A16/660 ( Turn Over )



( 4 )

4. Answer any three of the following questions :
10x3=30

(a) What does the word *operant' signify?
Discuss operant conditioning with an
experiment.

*14T(.wl(.«l 1%

(b) Discuss about the trial and error method
of learning in detail.

21^ ̂  ̂ ^ICoilHl
^ I

(c) What are immediate memory and

permanent memory? Discuss the nature
and characteristics of memory.

^ ̂ 1%?

(d) What is the difference between need and
motivation? Write the characteristics of
motivation and give a diagrammatic view
of motivational cycle.

^2im -^9^^ 1% ?

Ttif^ m I

A16/660 ( Continued )

( 5 )

(e) What do you mean by personality? How
are personality theories classified?

-^Iqcoi 1% ̂ 1^ ?

(f) Differentiate between biogenic and
sociogenic motives.

I

★ ★ ★

A16—500/660 3 (Seni-2) PSY
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